ST-11 RRBPO (PRE) 2020

Passage for Question 1, 2, 3, 4, 5 (ST-11RRBPOPRE(1-5R)2020)
eng Passage

Read the following information carefully and answer the question given below.

Five books of different subjects Zoology, Economics, History, Art and English are kept in row A and Five students A, B, C, D and E are sits in row B. Five books
in each row in such a way that the books of row A are in front of the students of the row B. Students are facing north and books of the row A are kept as facing
south. History is at the extreme end of the row and is second to the left of Art. Zoology is to the immediate right of Art and exactly opposite to A. B is exactly
opposite to English which is at one of the ends of the row. E and C are not sitting at the end. C is to the immediate left of D.

hi Passage
FrafafRrg Tl F1amydF ug A= a3 @ wrsTsIH™TT

faferer farort iy o= qeas SEtst, sreerme, g, FeT oif¥ RSt 1 ufts A § T@r 797 § i o= g1t A, B, C, D 3ft¥ E &1 Ufts B # 92147 7 21
T Uik § I S 39 d¥g 9 § [ 4fh A i wa W%B%@?ﬁ%ﬂ'm%r%lWwaﬁaﬁtg@ﬁﬁ%aﬁtqﬁﬁAﬁwﬂ%aﬁwwww
2 o zferor it e wrweT 2N sfher 9ftE ¥ &iftw g 9w § i e 3 9T ST gEe 81 Sl FAT 6 g &1 S A F St fAadia 81 B s¥ef R
foremer faradia g ST e  sifaw i § § U 9w g1 EsfiT C ot I 9w 71 &8 81 C, D & U&gH 910 gl

Q-1 Which subject is in front of E?
eng

01. Zoology 02. English
03.  Either Art or English 04. Art

05. None of these
Q-1 E % |19 &7 471 3w 22

hi
01. Sferistr 02. ST
03. =T T AT AT RIS 04. =T
05. = F 1S TR
Solution for Question 1
eng 2 '
A- English Zoology Art Economics History
A E C D
hi 4
A-  3EER JA e whemEy  3fdew
B A E C D
Q-2 How many students sits left of A?
eng
01. 1 02. 2
03. 3 04. 0
05. 4
Q-2 AT aT AF I T 22
hi
01. 1 02. 2
03. 3 04. ¢
05. 4
Solution for Question 2
eng s :
A- English Zoology Art Economics History

[3 §___% g%

A E C D




Q-3

eng

Q-3
hi

eng

Q-4

eng

eng

eng

Q-5

hi

A- 3T Sfeitst Fell sderer FfaEw
B- B A E C D
Among the following pairs who sit(s) at the end of the row?
01. D-C 02. B-C
03. B-D 04. D-E
05. None of these
faftfRa e g drFsad 9 22
01. D-C 02. B-C
03. B-D 04. D-E
05. =% T F1E 78T
Solution for Question 3
A- English Zoology Art Economics History
B- B A E C D
A- 3T el ell Foerer e
B- B A E C D
Which of the combination of book and student is correct?
01. Zoology - A 02. English-E
03. Art-D 04. Economics - B
05. History —C
TEQF ST B H H HIT q1 HATSH Tl 82
01. SefsiT - A 02. ST -E
03. FAT-D 04. 3rforTer -B
05. =g -C
Solution for Question 4
A- English Zoology Art Economics History
B- B A E C D
A-  3EER ECIE] Fell whemEy  3fdew
B- B A E C D
Who sits in front of an Economics book?
01. D 02. C
03. B 04. E
05. A
srforrar Y AT F "I FIT 54T 22
01. D 02. C
03. B 04. E




05. A
Solution for Question 5

eng A- English Zoology Art Economics History
[ g% §___%
B- B A E C D
hi

A- 3 Selell e sderer sfoEw
[ g% g%
B- B E

A C D

Passage for Question 6, 7, 8, 9 (ST-11RRBPOPRE(6-9R)2020)
eng Passage

In each of the questions below is given three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if
they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.

hi Passage

= faw 1w sk oy § i e fow e 8 ok are < AR 1 e 11w 1 €)1 siraent fow 1w sheret sy O 9T 8, 9ol g F JTHTed: ST a9 6
ar forer g1 F9ft Aoy 02 oY fRe a8 13 R 10 ot & & i a7 (e J1erea: Sa @A i AagadT Fd gU &0 T FAAT FT qhd w9 9
ATHLOT FAT B

Q-6 Statement:
eng Some T are not G
AllGare C
Only T are X
Conclusion:
I. Some C cannot be X.
II. Some X are not being G is a possibility.

01. None follows 02. Only II follows
03. Either I or II follows 04. Only I follows

05. Both I and II follow
Q-6 FAT:
hi FI TGN &
afiGCE
FAATX 3
e
I. F= C, X 7SI 81 9hd gl
IL F7E X 3 G 7 21 41 7 9T £

01. =< oft s 981 Fear 02. Fae 11 ATET FLATE
03. =7 qT 13T I1 STTET FIaT & 04. F3e [ SATHLU FAT &
05. 13f¥ 1 I T80 Fd &

Solution for Question 6

eng




eng

Q-7

hi

Statement:
Some @ are #
All#are $

Some $ are %
Conclusion:

1. Some # are %.
II. No # are %.

01. None follows

03. Either I or II follows
05. Both I and II follow
ER LK

TW@H#E

aft#$ 3

TGS %

Ao

L %Z#, % 8

IL . FTS #, % 751 81

01. =1 ff Sraeor 78 FaT
03. 7T qT 13T I SAHLT FXaT &
05. 1 3¥ 11 41T e F4 &

Solution for Question 7

eng

eng

Statement:

All % arc ¥

All ¥ are ¢

Only few ¢ are @
Conclusion:

I. Some ¢ are &.
II. No ® arc +.

01. None follows
03. Either I orII follows

05. Both I and II follow
FAT:

affevd

afreed

FATET 4@ &
IELEAF

LEE e, &2
ILFEe, ¢

01. 1< ofY srEeor gt F+ar g
03. =7 qT 13T I1 TTET FIaT &
05. 137 1 ST SRR AT 2

02. Only II follows
04. Only I follows

02. Feef 11 SIET FAT 8
04. Fae [ AT FAT &

02. Only II follows
04. Only I follows

02. Fae [ SATELOT FLAT S
04. F3e [ SATHLO FAT &




Solution for Question 8

eng

hi

eng

Statement:

Some < are >
Only few > are >
Only few < are <
Conclusion:

I. Some > are <.
I1. Some < are >.

01. None follows
03. Either I or II follows

05. BothIand II follow
F:

<, 28

FAT TG >, > 8
FAARGZ<, < &
st

L%g >, <gl

IL %T <, > 8l

01, TE +fT Sereor T et §
03. 7T a7 13T I SAHL FXaT &
05. 13f¥ 1 ZAT STET Fd §

Solution for Question 9

eng

02. Only II follows
04. Only I follows

02. Fef 11 SILET FAT 5
04. FFe [ SITHI FIAT &

hi Passage

Passage for Question 10, 11, 12 (ST-11RRBPOPRE(10-12R)2020)
eng Passage

Study the following information carefully and answer the question given below:

A girl leaves her school. She first walks 20 meters in Northeast direction and then 35 meters in Southeast direction. Next, she walks 4 meters in South direction.
Finally, she turns towards her school and walk 5 meters.




Fafafaa Trasrd &1 eamyd s AeggT R AT Ruagwg w139

TF AT ST TR & TEATH FAT g1 a8 Tged QAT (R0 | 20 Hie¥ i< 30a a1a aferor 99 faerm & 35 Hie &t g a7 F:Tdl gl T80 a1g, a8 areror fae
H 4 i FAAT 21 T H, T A A1 AT HSAT @ AT S HieT At 2|

Q-10  Inwhich direction is she moving?
eng

01. North-East 02. North-West
03. South-East 04. South-West

05. None of these
Q-10 = o e 7 ot a7 =i 82

hi
01. 3e-gd 02. 3e-vfEm
03. =fErrua 04. =feror-ufam
05. =H qFIE A5l

Solution for Question 10

eng
20

(2]

B

=

n

(2]

=

Q-11  Whatis the total distance traveled by the girl?

eng
01. 75m 02. 90m
03. 64m 04. 74m
05. 57m
Q-11 =T grer a7 T e g7 bt 82
hi
01. 75 02. 90
03. 647 04. 74+
05. 57+t
Solution for Question 11
eng 20+35+4+5=64
20,
35
G
\4
5
hi 20+35+4+5=64

20

]

#

/ i
wn
~

Q-12  Girl is facing in which direction after walking 35 meters?




eng

01. North-West 02. South
03. South- East 04. South- West
05. North

Q-12 35 ¥WieT o & aT8 ASH! [ [T H 3@ B 82

hi
01. 3ITo-ufsrg 02. =feor
03. =fEror- qF 04. =feror- gferm
05. 3I9<%

Solution for Question 12

eng

Passage for Question 13, 14, 15, 16, 17 (ST-11RRBPOPRE(13-17R)2020)
eng Passage

Read the following information carefully and answer the question given below.

All the codes given below are only in two letters format.
“Banks are many today” is written as “ri wi ki oi”,

“Money deposit through banks” is written as “vi ji oi ai”,
“Many money withdrawal today” is written as “‘wi ri si ai”” and
“Today many deposits done” is written as “hi vi wi ri”.

hi Passage
frafafag STasTd FT e T 02 v frgrr g srIve)

= faw srw =odY e Faer a1 AT F =T § 2

“Banks are many today” #T "ri wi ki oi" % &7 H forar StTar %’,

“Money deposit through banks” T “vi ji oi ai” % &7 # fer@T JITar 2,
“Many money withdrawal today” =T "wi ri si ai" 3T % &7 ¥ foraT smar %
“Today many deposits done” T "hi vi wiri" % ®9 & foraT Srar %’I

Q-13  Whatis the possible code for “money transfer?
eng

01. gai qi 02. Kiwi
03. rai 04, wivi
05. None of these

Q-13 “money transfer” 3 o FTfad e #4782

hi
01. aigi 02. kiwi
03. riai 04. wivi
05. =% T FIE AT

Solution for Question 13

eng

arc@todaz \n- wi ki
Monevl denosit thmugl'jbanksl vi it billai)



A L8 - -

e T
w1thdrawal today wi @ si
Todayepomts done hi _vi wi, @

areté @& ki
-deposn through{banks] X i

w1thdrawal today wi @ si
Todayeposns done hi _vi wi, @

Q-14  If“Thave money” is coded as “gi ai li”, then what will be the code for “I deposit money”?
eng

01. giaivi 02. kiaivi
03. Liaivi 04. wiaivi
05. Cannot be determined

Q-14  =fT “Ihave money” FT "giai li" % &7 & FHIFST FaT 72T 2, AT “I deposit money” ¥ forT Fre 7T T2

01. giaivi 02. kiaivi
03. liaivi 04. wiaivi
05. fReifa 7t e S #shar

Solution for Question 14

eng
areté @ wi, ki
-deposn throug_ 2
w1thdrawal today Wi @ si
Eﬂts done hi _vi wi @
hi

aretﬂg @& ki
deposit throug =

w1thdrawal today wi @ si
Todayeposns done hi _vi wi, @

Q-15  What s the code for “done”?
eng

01. wi 02. 4
03. hi 04. Cannot be determined

05. Eitherrior vi
Q-15  "done" % forw Fire FAT €2

01. wi 02. 4§
03. h 04. g T2t BT ST wahar
05. =7 qT ri AT vi

Solution for Question 15

eng

aretﬂg @ wi, ki
deposit throug =¥ i
withdrawal today Wi @ si

L ot T [P pcmre . WP LT RROR L [ Ty  wsa W‘i T‘i



EA o Y Lildkil M Al L UL L R 111 ra ———— et £
1:'{[\-___.1/“ L —
A —

mare.té (ri) wi, ki
deposn througl- B |5
w1thdrawal today wi @ si
Todayeposns done hi_vi wi, @

Q-16  What s the word for the code “si” in the given code language?
eng

01. withdrawal 02. banks
03. deposit 04. money

0S. Either today or deposit
Q-16 T e AT § “si” FrT F forw ors7 #4772

01. withdrawal 02. banks
03. deposit 04.  money
05. 7T T today =T deposit

Solution for Question 16

eng
BanksJare any today (i) wi, ki
-deposn througl- 3 i
w1thdrawal today wi @ si
@ﬂm done hi_vi wi, (i)
hi

Banks|are to wi ki [oi
today =
-deposn throug_ Vi ji Joi]

w1thdrawal today wi @ si
Todayepomts done hi _vi wi, @

Q-17  Whatis the code for “are”?
eng

01. wi 02. Kk
03. h 04. Cannot be determined

05. Either wi or vi

Q-17  "are" % ferU T HATE?

01. wj 02. ki
03. h 04. g a5t BT ST wahar
05. =T aT wi AT vi

Solution for Question 17

eng

[Banks|are to wi ki [oi
today =
-deposn throug_ S ik

w1thdrawal toda Wi, (1) si
Todayeposits done hi _vi wi, @

cE




[Banks]are many) today (1) wi, ki
deposit throug =5 @

(ﬁangmoney}withdrawal today wi @ si |ai
o il RELEE. & — — oo
Todaymanydeposits done hi vi wi (ni

Passage for Question 18, 19, 20, 21, 22 (ST-11RRBPOPRE(18-22R)2020)
eng Passage

Study the following information carefully and answer the question given below.

Ten people are sitting in a row and they are facing either north or south direction. The number of people facing the south is equal to the number of people facing
north. The person sitting in the corners are facing different directions.

More than two persons are sitting between V and K. G and O are facing the same direction. K sits third to the right of I who is facing south. H sits to the left of P
and I sit to the left of K. G is five places away from H, who is also sitting at an end. H is closer to G than to V. O sits in the middle of R and H. J sits immediate to
the left of S, who sits at an end. R is an immediate neighbor of G and V. R and V are facing the same direction.

hi Passage

fafafaa TTasrd w1 samgd® sregaa L A= fRoagwrsrIacd

T AR UF U § 9 8 3T 3 3¢ 37 aferor fRam &t sie 3 w2 €1 aferor fem § e arer ot Y dear 39 ¥ 27 3@ arel AR 6 93a gl R A
Jo AR w AN R I@m @ B

V ¥ K 3 = 21 7 afar =7t 9% 81 G #iiT O U gf 3o § 77 81 K, [ % T s ey 93a1 ¢ foreet 7@ feror 7 sie g1 H, P % arfi e 921 8
MTLKFIA ATl GG HA T A X 8, MUF R A ST g H, VA @@ T H GF FHT g1 O, R AT H, F A H 9278 J, S T T a4 S2aT &,
ST U BI¥ 92 92T 81 R, G 3f¥ V &7 TewTe T2t gl R &7 V U & Rear 9 39 2 2

Q-18  How many people are sitting between P and J?

eng
01. 5 02. 4
03. 3 04. More than five
05. None
Q-18 P F A foraa AT 4% 82
hi
01. 5 02. 4
03. 3 04. o= T ofarw
05. s T
Solution for Question 18
R AR "
P O L. & R Y J S
hi

o |¢a | T
~ e | =
ol =
ol Lo=
ol L=
Q |<a
ol [ =52
<=

£
]

» |

Q-19  Whoisssitting fourth to the left of the one who is sitting third to the left of O?

eng

01. O 02. s

03. v 04. p

05. K
Q-19 ST O F aT4 & 6L T T 937 § 36 10 & A9 T T2 FIF 927 82
hi

01. O 02. S




03. v
05. K
Solution for Question 19

eng
LA AR VA {0 R
H K P O I G R V J S
hi
4 & 3 30 4 44 4
H K P O 1 G R V J S
Q-20  Iflisrelated to K and K is related to G in the same way, then who is related to V?
eng
01. None 02.1
03. 4 04. p
05. G
Q-20 =R K H Hafea & =i 6T a3 K, G ¥ qafed g, a1 V & FId qaterd 82
hi
01. =< gl 02. T
03. H 04. p
05. G

Solution for Question 20

. More people are sitting to the right of G than to the left of G.

eng
A VAR VI VO o i
H K P O I & K ¥V J B
hi
A R AR VR VO ol
H K P O I & K YV J B
Q-21  Which of the following statements is/are true?
eng
01. O is two places away from H. 02.  Gssits second to the left of V.
03. S faces north and H faces south. 04
05. More than one statement is true.
Q-21 feE@dIsmaTFaTaEie/a8?
hi

01. O, H¥ITEIH X 8|
03. S I AT AT 3T H ZFA0T FT AT T@d
El
05. W ¥ ferT FIF T g
Solution for Question 21

. G, VF ardf T T Bl
. G 970 Y T H G F FTU AT AR 95 &

R O I R I It I Rt
H K P 0 I ¢ R V J S8
] 0 08 304000
H K P O I G R V J S8

Q-22

How many people are sitting between R and O?



eng

01. 5 02. 4
03. 3 04. 2
05. None
Q-22 RO F = fhad ART 93 52
hi
01. 5 02. 4
03. 3 04. 2
05. =Frs =gt
Solution for Question 22
eng
0 & 0 00 4 44 40
H K P O LI & K VY J B
hi

>
S

T 4 4 0 408
I

H kK P ©

& 1
S

G R V I

Passage for Question 23, 24, 25, 26, 27 (ST-11RRBPOPRE(23-27R)2020)
eng Passage

Study the following information carefully and answer the questions below.

Seven Persons L to R are sitting in a circular table facing center and like different fruits Apple, Guava, Orange, Mango, Cheery, Banana and Pineapple but not
necessary in the same order.

The E and R like banana and cherry respectively. Q sits third to the left of A. U and R are immediate neighbors. Either Q or P likes mango or orange. A sits second
to the right of U. I is not neighbor of E and does not like guava or pineapple. E sits second to the right of R. U does not like pineapple.

hi Passage

fafafaa sTasTd &1 eamgd® Aegaa L A= fRoag g srIacd

AT AR L H R TF TATHTT T 5 AT AT AR 07 A TG Tk 9% 2 o7 TS weft S 39, srows, 99T, 9, =4, F7 ¥ 9 76 7 2,
ATHT STELT AR T THT FH | 2l

E 3fI¥ R FHET: T 3T AL T6HE Fd gl Q, A 3 AT H A€ #T9 9T g1 U 3T R, Tk TSR 1 AT AT Q IT P, 3TH TIAT Ha<T THE F¢d gl A, U F 310
AT AT FBT | 1, E FT IS &1 ¢ 3T AHES I7T AT T6g gl F2dT gl E, R F 370 3 a0 I3T g1 U S THE A5l H2aT gl

Q-23  Whatis the position of R with the respect to left of 1?
eng

01. Second to the left 02. Third to the right
03. Fourth to the left 04. Third to the left

05. None of these
Q-23 13 970 % "arer § R Rl s 82

hi
01. 7T gET 02. =T frEeT
03. =TT =TT 04. 70 FrEeT
05. =% T FIS Al
Solution for Question 23
eng Banana
E

Mango/Orange

Pineapple
A

R

Cherry



Q-24

eng

¢ v

Mango/Orange Guava

&ell
LS e —
P A
I
w -
Q U
A/ T e

What is the position of R with respect to Q?

01. Immediate right
03. Second to the left

05. None of these
Q ¥ Harer § R T Rurfa a7 22

01. ohrer =TT
03. &Td AT A
05. =% T *rE T

Solution for Question 24

eng

Q-25

eng

Banana

E

Mango/Orange

Q U

Mango/Orange Guava

&l
/v N
P A
I
w % % -
Q U
WA/ G IEeE

Which fruit is I’s favorite?

01. Cherry
03. Mango

05. None of these
[ T I &7 el T8E &2

01. =&
03. 3w

05. T & FrE TS

Solution for Question 25

eng

Banana

E

Mango/Orange Pineapple

w A

02.
04.

02.
04.

02.
04.

02.
04.

Second to the right
Immediate left

AT AT AT
TqehTel a0

Banana

Apple

|



1 R
Apple Cherry

Q U

Mango/Orange  Guava

&ell
L S e ——
P A
I
w ;% a0
Q U
WH/FA IEEE

Q-26  Which of the following pair odd out of rest?

eng
01. P-Mango 02. Q-Mango
03. Either 1 or2 04. U-Orange
05. A-Orange

Q-26 TAwfafEd & & Fi9 a1 S(reT fouw 82

hi
01. p-3mw 02. Q-amw
03. aTqT1AT2 04. U-FHaT
05. A-gaww

Solution for Question 26

eng Banana
E
Mango/Orange Pineapple
A
I R
Apple Cherry

Q U

Mango/Orange  Guava

&ell
ww/ga N e
E A
I
w B
Q U
FA/FR AR

Q-27 What is the position of P with respect to the person who like Orange?
eng

01. Immediate right 02. Second to the right
03. Second to the left 04. Third to the left

05. Cannot be determined
Q-27  HOT THE A ATl AfE & Hae H P Ay Fafa w22
hi

01. qehTer 210 02. =TT AT AT
03. =TT AT FA 04. =0 =T frEwT
05. fReifa 7t e S ket

Solution for Question 27



eng Banana

E

Mango/Orange

A
; R
Apple Cherry
Q U
Mango/Orange  Guava
B Fe

ww/d N
p A
I
w By
Q U
WA/ IEEE

Q-28 How many such pairs of letters are there in the word INSTRUCTIONS' each of which has as many letters between them in the word as in the English
eng alphabet?

01. 1 02. 3
03. 4 04. 2

05. More than 4
Q-28  'INSTRUCTIONS' 915 # U Fohael steqe- 77 2, SO & T & = # 3a+ & o1& &, oA st avramer # 82

01. 1 02. 3
03. 4 04. 2
05. 4 ¥ srfersm
Solution for Question 28
eng
| |
INSTRUCT @I S
hi

| |
INSTRUCTIONS
(TROCTIRY

Passage for Question 29, 30, 31, 32, 33 (ST-11RRBPOPRE(29-33R)2020)
eng Passage

Read the following series carefully and answer the question based on it:

3FD5S5B1IWS$%6 *70&SGIV#C@8 DO9IOPOEP3

hi Passage

Fafafaa gt #1 sqm7 & v shrsa v snaria v w139

3FD5BIW$%6 *70&SG1IV#C @8 DIIOPOEP3

Q-29 How many such consonant are there in the above arrangement, each of which is immediately preceded by a consonant and immediately followed by a
eng number?



01. None 02. One
03. Two 04. Three

05. More than three
I AT | fohae U =9 &, 59" & 0% F Ta T8 UF 494 g 37 30+ Ed 978 U 977 82

01. 7% 7& 02. T
03. =1 04. q=
05. =& wrfeae

Solution for Question 29

eng

hi

Q-30

eng

Q-30
hi

eng

hi

3FD5B1IWS$%6 *7T0&SG1V#C @8 DIIOPOEP3
3ED5SB1IWS%6 *7T0&SG1V#C @8 DIIOPOEP3

How many such numbers are there in the above arrangement, each of which is immediately preceded by a letter but not immediately followed by a symbol?

01. None 02. One
03. Two 04. Three

05. More than three
SR ST H T Ul Hea €, FOrrH & S % qIq Tgel UF AETT AT § WAThe T a1% TA1F Tt oArr 82

01. 7% & 02. TF
03. a7 04. di
05. o 7 srfer
Solution for Question 30
3FDS5B1IWS$S%6 *7T0&SG1V#C @8 DIICOPOEP3
3FD5BIWS$S%6 *70&SG1V#C@8 D9TOPOEP3

Q-31

eng

Four of the following five are alike in a certain way based on their positions in the above arrangement and so form a group. Which is the one that does not
belong to that group?

01. ECcD 02. W53
03. S7% 04. @Vl
05. 018

I AAET H I T=1 % e a2 Feferfed ot § & 9 uF A3 ais 9 0 S § oY sqfor U 99 a97q 81 98 Fi4 97 g S 36
T § Hated Agl g7

01. EED 02. W53
03. S7% 04. @v1
05. 018

Solution for Question 31

eng

Q-32

eng

Q-32

E (2 element) © (2 element) D
W (2 element) 5 (2 element) 3

S (2 element) 7 (2 element) %

@ (2 element) V (no element)1
0 (2 element) I (2 element) 8

EQ ) © Q2 ad)D
W (2 d) 5 (2 TA) 3
S (2 qe) 7 2 T ) %
@ (2 T@) V (FTEqeaagnl
0 Qa1 (2q) 8

Which of the following is the ninth to the left of the twelfth from the left end?

01. D 02. F
03. 9, 04. 4
05. A

FrerforRre & e a7 @ & AT 3 AT A A 22



01. D 02. F
03. o, 04. 4
05. A

Solution for Question 32

eng 3ED5BIWS%6 *70&SG1IV#C@8 DIIOPOEP3
12-9=3

hi 3FD5B1IW$%6 *7T0&SG1IV#C@8 DITOPOEP3
12-9=3

Q-33  Which of the following is the sixth to the right of the fifth to the left of ‘G*?
eng

01. 5 02. B
03. # 04. 1

05. None of these
Q-33 FwfEd # ¥ F19 ‘G’ F 970 9794 & 370 A7 o471 87

hi
01. 5 02. B
03. # 04. |
05. T & FE T
Solution for Question 33
eng 3FD5BIWS$%6*70&SG1V#C@8DI9IOPOEP3
hi 3FD5BIW$%6*70&SG1V#C@8DI9I©OPOEP3

Passage for Question 34, 35, 36 (ST-11RRBPOPRE(34-36R)2020)
eng Passage

Study the following information carefully and answer the questions given below:

M is the father of F. F is married to D. E and M are siblings. R is the brother-in-law of D. S is the son of D. P is the wife of M. T is sister-in-law of M. P has no
daughters. G is the daughter of T.

hi Passage

afa T STasTd F 1 5qMga T A5IIT R AT fRuTgOw w3797

M, F % f9aT | F T a1<t D 7 g% 81 E 3fiT M 9TS-927 &l R, D T 78<-39-a1 g1 S, D FT T 81 P, M &I Tait 81 T, M #¥ FEee-39-a1 g1 P T Fs gt
TEl gl G, T #T T B

Q-34  How many males are there in the family?
eng

01. One 02. Two
03. Three 04. Four

05. Either Four or Five
Q-34 TRERH AT U E?

01. U= 02.
03. & 04. =TT
05. 77 7 =92 a7 T =

Solution for Question 34

Y

eng

T'—P-:M— E

| 'S 1 |



G R F [ D
%
o - - + -+
T—Prc——M E
- | + + -
G R F I D
%
Q-35 How many female(s) members are there in the family?
eng
01. Three 02. Two
03. Five 04. Four
05. Cannot be determined
Q-35 aRaEw ¥ At AfgeTd 82
hi
01. & 02. =
03. o= 04. =TT
05. fRgifea agi T s aar
Solution for Question 35
eng _ _ i J+
T—Pc—M——E
- | + + -
G R F I D
*s
i - - + -+
T—Pc——M—E
- | + + -
G R F ul_u D
%5
Q-36  Howis P related to D?
eng
01. Brother-in-law 02. Sister-in-law
03. Sister 04. Mother-in-law
05. None of these
Q-36 P, DHFH Hafed &2
hi
01. FET-zA-7 02. fAreaz-ga-af
03. g 04. HET-ZA-AT
05. =H T FIE A1
Solution for Question 36
eng _ _ + e
T—P—M——E
o | + 3+ -
G R F——=maD
N



- - + -f+
T—Pc——M E
_| + + -
G R F D
X

Passage for Question 37, 38, 39, 40 (ST-11RRBPOPRE(37-40R)2020)
eng Passage

Study the following information carefully and answer the question given below:

Seven persons — K, B, M, N, R, P and S have different height. N is taller than K but not tall as S. B is taller than R but not as much tall as M. P is taller than B and
R but shorter than M. N is not taller than P. S is taller than M.

hi Passage

frafafag STasrd £ 1 sqmgd T stegaa F A= Ruagarsroacd:

ard =AfRE - K, B, M, N, R, P 31T S FT A T-31e0T 3ATE 1 N, K ¥ &7 8, At S Foraqar o4 9871 &1 B, R 7 a7 &, ofed M fSraat & /g1 81 P, B sfiT R
g off & €, AFT M T BT 81N, P J o fare ofar 981 21 S, M F &ar )

Q-37  Whois the second tallest?
eng

01. M 02. s
03. p 04. N

05. None of these
Q-37 T AN AT FIA &2

hi
01. M 02. S
03. p 04. N
05. =% F F1E AT

Solution for Question 37

eng S>M>P>B/N>R/N>R/K

hi S>M>P>B/N>R/N>R/K

Q-38  How many persons are shorter than R?
eng

01. One 02. Two
03. Three 04. Four

05. Cannot be determined

Q-38 REfFAT =T E?

01. u= 02.
03. i 04. =TT
05. ferifea w2t foram ST JaT &

Solution for Question 38

A,

eng S>M>P>B/N>R/N>R/K
hi S>M>P>B/N>R/N>R/K

Q-39  Who has shortest height?
eng

01. M 02. S



03. p 04. N

05. K

Q-39  HIH FH AATS HhEhl 82

hi
01. M 02. s
03. p 04. N
05. K

Solution for Question 39
eng S>M>P>B/N>R/N>R/K
hi S>M>P>B/N>R/N>R/K

Q-40 How many persons are taller than B?
eng

01. One 02. Two
03. Three 04. Four

05. None of these
Q-40 B o =af<e T &2

hi
01. us 02. =7
03. i 04. =T
05. =% FFTE ALT

Solution for Question 40

eng S>M>P>B/N>R/N>R/K

hi S>M>P>B/N>R/N>R/K

Q-41 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)
eng

(+f80.997 — /25001 | » (12098 +16.02 | =7

01. 60 02. 68
03. 55 04. 48
05. 45

Q-41 o wor & wor foee (2) 3 ¥ 9 47 ST AR (ST HET /I ¥ TUET F7 i Aa9qH:dT 721 1)

(/80997 —/25.001 | x (+/120.98 +416.02 | =7

01. 60 02. 68
03. 55 04. 48
05. 45

Solution for Question 41

eng [V81-v25)x[V121+16)=7
[9—5)=(114+4)="7
4x15="7
7=60

hi (V81-v25)x(V121+v16)=7
[9—5)=(114+4)="7
4x15="7

7=60

Q-42 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)

eng _ _
(184.002—-29+5)x20997="7

01. 4340 02. 2854
03. 5340 04. 5200



05. 5000
Q-42  fA=forfead wor & wor foree (2) 3 ¥ 9% 47 o1 AR (SMTRT HET /T 67 AT FHIA T Aa9THaT Tt 1)

(184.002—29+5)%20.997 =2

01. 4340 02. 2854
03. 5340 04. 5200
05. 5000

Solution for Question 42

eng (184—6)=30=7
178x30="7
7=5340

hi [18—1—6.'|><30='?
178x30="7

7=5340

Q-43 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)

eng ) )
(111.93x%5|=1402=11.002+7

01. 40 02. 38
03. 35 04. 25
05. 29

Q-43  fAwferfd wor 7 wor e (2) % T 9% 47 AT AR (ATTHT HETF A T 0T F7A 67 STaeqhl Tl 1)

(111.93%5)=1402=11.002+2

01. 40 02. 38
03. 35 04. 25
05. 29

Solution for Question 43

eng 112 5+14=11+7
112x5+14=11+7
560 <14 =11+7
40=11+7
7=40-11=29

hi 112 5+14=11+7
112x5+14=11+7
560 <14 =11+7
40=11+7
7=40-11=29

Q-44 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)
eng

L
il

01-345.02+2299=2x(7)

01. 15 02. 19
03. 21 04. 23
05. 12

Q-44  T=forfad wor § wor foree (2) 3 ¥ 9% 7 1 AT 02 (SMTHT HE1 /T %67 AT FIA T Aa9THaT T2l 1)

53.01-345.02+=22.99=2x(7)

01. 15 02. 19
03. 21 04. 23
05. 12

Solution for Question 44

L

eng 3-345+23=2x(7)



Lho Ln
[FS )

Q-45 What should come in place of question mark (?) in the following question? (You do not have to calculate the exact value.)
eng

\f'['.3099.985 =+ 62.001 + 14.001) = ?

01. ¢ 02. 5
03. 4 04. §
05. 12

Q-45 el wor 7 wor e (2) % T 9% 97 AT AR (ATTHT HETF /I T 0T F7A 67 STl Tl 1)
hi

,J'['_3099_985 + 62.001 + 14.001) = ?

01. 6 02. 5
03. 4 04. 8§
05. 12

Solution for Question 45

eng N(3100+62+14)="
N(50 + 14)=7
V64 =7
T=8

hi N(3100+62+14)="
V(50 + 14)=7
V6l =7
7=8

Passage for Question 46, 47, 48, 49, 50 (ST-200RRBPOPRE(56-61M)2019)
eng Passage

Read the following graph carefully and answer the questions that follow:

The data of the total students in a class in given, along with the data of those who do not take part in any activity. The ratio of students taking part in 2 different
activities is also given below.

T
(lasses Total Students Students not Ratio of students
Participating many | taking part in group
activities siging : quiz
IX 280 210 52
X 310 220 &l
X1 185 95 32
XII 220 160 73
hi Passage

frafarfag are &1 eama @ o2 st fAaeferfaa vt ¥ sacd:

Foreft oft wrfafafer & wr 72 o arert % a7 % |y, U T v a0 § qwer GrEAl 7 22T 2 S-SR AT e § AT o8 qTer gt v i ot e
T E

FaET Fal faeandt faeardf S sm WG AT:
AW R | Ve A AT o
arel BT &
R ELiR]




X 280 210 52

X 310 220 41
X1 185 95 32
XII 220 160 73

Q-46 What is the ratio of the students who participated in group singing from X class to those who participated in the quiz from XI class?
eng

01. 32 02. 2:1
03. 13 04. 34

05. None of these
Q-46  XI = I qIE AT § TRT A ATl 11 T ATITT FAT 2 rvgie X1 AT et § A foram?

hi
01. 32 02. 2:1
03. 13 04. 3:4
05. =i & FrE AR

Solution for Question 46

eng Students who participate in group singing from class X = (310-220)x i =72
Students who participate in quiz from XI class = (185-95)x 2_ =36
Required Ratio = 72:36, i.e. 2:1

hi

S BT T X AT M UM E = (310-220)x L =72
S T T X1 T & A E = (185-95)x = 36
AN 3TITT = 72:36, ie. 2:1 _

Q-47 The total number of students who do not take part in any of the activities from class XI is what percent of the total number of students who took part in any
eng of the activities from class IX, X & XI?

01. 38 02. 42
03. 46 04. 40
05. 45

Q-47  Far X1 & et ofF wfafafer & wwr At o arer St £ o S 1X, X & X H Far 8 Rt fF afafafer & awr o are st o 1o et w1
hi e wicrera 82

01. 38 02. 42
03. 46 04. 40
05. 45

Solution for Question 47

eng Total students who take part in any activity from class IX, X & XI =70 + 90 + 90 = 250
Total students who do not take part in any activity from class XI=95

Required % =f__30 <100 = 38
B |

hi A BT S &l [X, X & X1 & forelt off wifeifarfer & wwr ora € = 70 + 90 + 90 = 250
%ol BT X1 T i feheft oft nfefafr & e A st = 95

WW%=?_’D %100 =38
LY

Q-48 The number of students who take part in quiz from IX class is what approximately percent of the total number of students who take part in group singing
eng from X and XII class together?

01. 15% 02. 25%
03. 28% 04. 18%
05. 20%

Q-48 X FeAT F WAL § T o ATl BTAT o6l F&AT X 317 X1 3 % FH TAT H AN o AT BT 0T el SEAT T AT {ohae TIa9rd 22



01. 15% 02. 25%
03. 28% 04. 18%
05. 20%

Solution for Question 48

cng Students who take part in group singing from X and XII together = (QOX_:} ) + (60% %) =172 +42
=114 J
Students who take part in quiz from IX = 70x g =20
Required percent =% x100 = 17.54%, i.e. approximately 18%

hi

ST BT X 3R X1 & T |7 G T H 9T i 8 = (90xi_)+(60x ﬁ) =72+42=114
IX | TR 8§ 9T o 9Tl SE= 70x§_= 20

Wsri%rm=% x100 = 17.54%, i.e. (STT) 18%

Q-49 What is the difference between the number of students who take part in quiz from IX & X classes together and total students who take part in any activity
eng from Class XI?

01. 68 02. 60
03. 52 04. 58
05. 62

Q-49 X & X FeATSH o TSt 7 AW A ATl AT AT AT 3T [ FTAT % 0= ¥ 74T ¢ S FeAr XL H et oft afafafer § @ orq 82

01. 68 02. 60
03. 52 04. 58
05. 62

Solution for Question 49

eng Number of students who take part in quiz from IX
& X classes together = (70x 2 )+ 90x 1 =20+ 18 =38
total students who take part in any activity from Class XI = 185-95 =90
Required Difference =90 - 38 = 52

IX I X & W) & ST o Aol ST 1 He = (70% 2 ) +90x 1 =20+ 18 =38

R BT S el X1 & Foreft off mifcrferfr 7 o o 8= 185-95 = 90 d
SATILIH T =90 - 38 = 52

Q-50 What is the approximate average number of students who take part in the activities from classes IX, X and XII?

eng

01. 73 02. 75

03. 78 04. 80

05. 82
Q-50  FATIX, X 37T XII & TAfAferi § 9RT A aTel ST 7 SATATAT Saa HeqT #4752
hi

01. 73 02. 75

03. 78 04. 80

05. 2

Solution for Question 50

eng Students who take part in group activities from class
IX =(280-210)=70
X =(310-220) =90
XII = (220 - 160) = 60
70490460

Average s —————=7333, i.e. approximately 73



hi ST BT T Y TG T AT Ter 3§ TR i &
IX = (280-210) = 70
X = (310-220) = 90
XII = (220 - 160) = 60

ﬁm’:w:fa_ss , i.e. STV 73

Q-51 A boat running upstream takes 8 hours 48 minutes to cover a certain distance, while it takes 4 hours to cover the same distance running downstream. What

eng is the ratio between the speed of the boat and speed of the water current respectively?
01. 57 02. 3:3
03. 83 04. 75

05. None of these
Q-51  UF 913 F a0 & fAadia U Ha g a7 F7 § 8 He 48 e F7 99T oar €, FTath 67T 6 A AT § T G F AT FIA § 4 HE A &
hi FHET: AT AT AT ST AT 3 TATE ¥ T 1= T ST F9T 82

01. 57 02. 38
03. 83 04. 75
05. =AHAFIS :rapr

Solution for Question 51

eng @ .00

x=y 5

hi d 44

x+y

HAd:, xiy = 8:3

Q-52 Average of the present ages of husband, wife and their child is 38 years. At the time of birth of the child, average age of the husband and wife was 39
eng years. Find the present age of the child.

01. 10 02. 14
03. 15 04. 20
05. 12

Q-52 O, Tt 37T I Ay AT ATH T FT AT 38 A | A F SIH F A, T( AT TAT 0T AT6q g 39 T off| ag HT FGH 3T T TaT 0|

01. 10 02. 14
03. 15 04. 20
05. 12

Solution for Question 52

eng Let the present age of child = x years
Sum of the present ages of husband, wife and child =3 x 38 = 114 years
Sum of the ages of husband and wife at the time of birth of the child=2 % 39 = 78 years
According to the question
114 -3x=78
= 3x=136
=>x=12
Hence, age of the child = 12 years
hi AT ShT ool hl AAHH 3T = x T
qfd, TeiT SR el hl A S H AT =3 x 38 = 114 99
e o S o A T ST Teft hY ST T AT = 2 x 39 = 78
LI
114 -3x="78
= 3x =36
=>x=12
: el hT A= 129

Q-53 A train left from station A for station B at 4pm at an average speed of 80 kmph. At 8 pm, another train also had left from station A for station B on a
eng parallel track at an average speed of 120 kmph. How far from A is another train expected to overtake the first train?



01. 750 02. 840
03. 960 04. 920

05. None of these
Q-53  UF A T A H T B F orw o 4 7397 sft|ae 80 T 9t 5 i TR 8§ @ 2| 1T 8 A9, UF AT o o 2T A § w=9F BF fw uE
hi AT & T¥ 120 T 9ie = 67 sied Tia & w@mr g of| T8t oF & 0 e & forg A § gy o fhaet g2 82

01. 750 02. 840
03. 960 04. 920
05. =8 q FIE AT

Solution for Question 53

eng Distance covered by 1st train in 4 hours = 80x4 = 320 km
Relative speed of 2nd train = 120-80 = 40 km
It will overtake another train in 320/40 = 8 hours
Distance between overtake point and station A = 8x120 = 960 km

hi 4 FICH | ¢ g i TS gli= 80 x 4 = 320 ferft
Zal & 6l wre i = 120-80 = 40 et
T 320/40 = § T Y Ueh A 7 U AT fHehed smarft
S UT5E S RIA A = F e hi g
8x120 = 960 Tl

Q-54 The ratio of volume of a cone to that of a cylinder if cylinder radius is reduced by 4 times and its height increased by 8 times of that of the cone, is -
eng

01. 32 02. 23
03. 4:5 04. 54

05. None of these
Q-54  UF 9F F AAAT FT ATAT A1 (S AT 4 AT FH &1 AT & ST ZHqHT ATs 4% 1 SaTs o 8 AT g AT &, AT A2 & -

01. 32 02. 23
03. 45 04. 54
05. =9 F FIS AT

Solution for Question 54

eng Let radius of the base and height of the cone be ‘r’
& ‘h’ respectively.

arh
Then volume of cone =

=
3

For cylinder, radius is reduced by 4 times :;1

And, height is increased by 8 folds = 8h

| |S-"’] = E.I;T_)‘:.l':-:_

Volume of cylinder= 72 = 7 = = |
(1) 8

(ST

Ratio of volume of cone to volume of cylinder =¥ m;"? =2:3

hi X1 o SR S HaTS b BIsaT 9T: h 3R r A

foRt iep <t mmr = 7

=
3

W%%q,ﬁwmmwﬁw%%
3P, eITE 8 THT G STt 2 = 8h

ST T ST = 7= 7 = &) =5 ) p=T
S o TR o ST oh Sigara =71 7% =5 . 3

Q-55 The speed of boat when travelling downstream is 32 km/h, whereas when travelling upstream it is 28 km/h. What is the speed of the boat in still water?
eng

01. 28 02. 32
03. 30 04. 34



05. 35

Q-55 T % AT ATAT FIA qHT A1 6 1 32 Tt/ w8, Sath oy F Al are Fa a6y 7 28 BT/ wer 21 Ruw 5o § 9 iy afa |
hi ENIERY

01. 28 02. 32
03. 30 04. 34
05. 35

Solution for Question 55

eng Suppose the speed of boat in still water is x km/h
and speed of stream is y km/h
Speed of boat in downstream = (x +y) km/h
x+y=32...(0)
Speed of boat in upstream = (x —y) km/h
Xx—y=28...(ii)
Add. Egs. (i) and (ii), we get
2x =60
x =30 km/h

hi T e T fer Stet & e <t wif x Tt/ ser
ﬁrwaﬁwﬁryﬁm“r/w%
ST 719 Y 7l = (x + y) Tt/ =er
x+ty=32... (1)
ST H A1 A T = (x - y) foRt/ wer
X -y =28... (ii)
2x =60
x = 30 ferft / =re1

Q-56 There is a three digit number. The digit at the tenth place is 3. If the place of all the digits are replaced with each other symmetrically about the tens position,

eng then the new number obtained is 396 more than the original three digit number. The sum of the digits at unit & hundredth place is 14. Find out the original
number?
01. 359 02. 935
03. 953 04. 593

05. None of these
Q-56 T ST T UF HEAT B T I UL 3 3 g1 AT AT AT F T KT UH-TAL F AT AT €T T@TS A AT F /7 77 fe7qy Srav g, ar
hi TTH S HEAT A T St 1 ST F 396 ATF gl THTS ST HIa TATT I 31 HT ART 14| T HCAT T T o122

01. 359 02. 935
03. 953 04. 593
05. =98 FFE Tl

Solution for Question 56

eng Let digit = xyz
Giveny =3
According to the question =
(100z+10y+x) - (100x+10y+z) = 396
99z-99x = 396
Z-x=4
Also, Zt+ x =14
Solving (i) & (ii)
Z=9,x=5
The original number is 539
hi 3k = xyz
ﬁ'ﬂTTI'EITy =3
4 % STFER =(100z + 10y + x) - (100x + 10y + z) = 396
99z-99x = 396
z-x =4
T A,
Z+x=14
HAdQ: Z=9,x=5
T T 539 2

Q-57 At present, the sum of ages of 4 people is 76. After 7 years, the ratio will be 7:6:5:8. Find out the present age of C?
eng



01. 11 02. 12

03. 13 04. 18

05. 9
Q-57  FCH W, 4 AT AT S FT AN 76 E17 AT 6 F1&, FTIE 7: 6: 5: 8 TET C 3T ATHTT AT AT HITor4?
hi

01. 11 02. 12

03. 13 04. 18

05. 9

Solution for Question 57

eng A+B+C+D =76
According to ques , after 7 years
A+B+C+D = 7x+6x+5x+8x = 76+7*4
26x =76 +28
X =104/26
x=4
C’s present age
=5x-7=
20-7=13

hi A+B+C+D=76
RINKEIE
A+B+C+D=7x+6x+5x+8x=76+T7x4
26x =76 +28

104

26

x=4

C St I 3

=5x-7

20-7=13

X

Q-58 The ratio of the speed of two trains is 5:8. Sum of their length is 660. The ratio of time taken to cross an Electric Pole by train A and B is 4:3. What is the
eng difference between the lengths of two trains?

01. 58 02. 60
03. 62 04. 68
05. 78

Q-58 =TT 6T T T AT 5: 8 Bl ST AATS T AR 660 Tl ST A 3T B FIRT SelTeheeh Tl 1 T Fded H A1 Aol THF HT SqITT 4: 3 F1 ZT 21 1
hi TS T 7T 3a¥ &2

01. 58 02. 60
03. 62 04. 68
05. 78

Solution for Question 58

eng Given that length of first train + length of second train = 660
Speed of first train: Speed of second train = 5:8 = 5x: 8x
Time taken to cross the poll by two trains = 4:3 = 4y:3y
Now,
(5xx4y) + (8xx3y) = 660
44xy = 660
xy =15
L1 - L2 =24xy -20xy = 4xy = 60 m

hi TEAT & hl AT + GEI ¢ hl TS hl a@d T = 660
Wé‘rﬁﬂﬁf:ﬁgﬁ%?ﬁﬂﬁ= 5: 8 =5x: 8x
31 AT T T IR S T o ITeT 90 = 4: 3 = 4y: 3y
3,
(5xx4y) + (8xx3y) = 660
44xy = 660
xy =15
L1 - L2 =24xy -20xy = 4xy = 60 m

Q-59 The ratio of the speeds of the train and the man is 6 : 1. The length of the train is 650m and crosses a pole in 1 minute 5 seconds. In how much time will the
eng man cross the 240m long platform(in second)?



01. 120 02. 128
03. 136 04. 144

05. None of these
Q-59 I AT SaHT FT A T AT 6: 1 ) 7 T SaT 650 HieT ¢ 3 Tg | e 5 Fhe § UF 01 &l T FIAT 81 EHT 240 Hex e WawhiH &l
hi e &7 7 I FA(EEE H)?

01. 120 02. 128
03. 136 04. 144
05,z i s

Solution for Question 59

eng 650 _

Q-60 A shopkeeper mixed two verities of rice at Rs. 40/kg and Rs. 60/kg in the ratio 3: 2 and sold the mixture at 10% profit. Find the price per kg at which he
eng sold the mixture?

01. 485 02. 46.8
03. 48.8 04. 528

05. None of these
Q-60  UF THFMETT 7 40 F/THIT 31T 60 F/FRIT % 27 THTT F A1 AT 3:2 F FqI0a | AT 77 Fsqor #1 10% A 9% =4 9 e 1 g7 3a
hi #rforo o a7 38 freror s=m?

01. 485 02. 46.8
03. 48.8 04. 52.8
05. =7 T FIS AT

Solution for Question 60

eng CP=4’|_'_—10><3+60><2_'I +3“:) _ i

| ol

SP=11x48=52%8
3p = 48

J

hi [(40%3+60%2)
CP=g-———~+

3

SP=11x48=528

Passage for Question 61, 62, 63, 64, 65 (ST-200RRBPOPRE(51-55M)2019)
eng Passage

Study the following graph carefully to answer the question:

(The data below is given in hundreds)
The graph shows the number of bike sold from two shops.
30

225 2 3
20 15 -’"& '“"‘"—wgr—""} \\ 75
15 ’/_,\r.'_(- 27 A 22.5 . "E
15 e = \'”»
. il 15
10 125 a

5 10

o
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i i B4




30
25
20
15

&

hi Passage
TAFTITLRIA F Fe Faraforfg are 71 earaqd+ st w3

(1= F&T 1T 2 &t § AT @ )
TTH &1 THL & o1 TS a7 T ST 0 29077 2

25
27
225 _;5” -
s " ﬁ,_ﬂvﬁ = --W_ﬂ#—*“l\;*_nl?.s
A b§ 225 SN
b ¥ S 12 <0 @
il 15

R

Q-61

eng

Q-61

hi

What is the respective ratio of the number of bikes sold by Shop A on Thursday to the number of bikes sold by Shop B on Monday?

01. 23 02. 34
03. 43 04. 54
05. 72

ST A ZTXT EATE T AT TS ST T HT 7 T {8 AT SIHETE T 21T B ZTT =1 T8 a2 ohT ST F 47 82

01. 23 02. 34
03. 43 04. 54
05. 72

Solution for Question 61

eng

Q-62

eng

Number of bikes sold by Shop A on Thursday =20x 100 = 2000
number of bikes sold by Shop B on Monday = 15 x100 = 1500
Required ratio =2000 : 1500=4:3

9 A T AT T si=il T3 STgehi hl W& = 20 x 100 = 2000
TIME 3T I9 B §RT S 718 sTgehi shl H&AT = 15 x 100 = 1500
LI ITFATT = 2000: 1500 = 4: 3

The total bikes sold by Shop B on all days excluding Wednesday is what percent of the total number of bikes sold by shop B on Thursday, Friday and
Saturday ?

01. 125.34% 02. 132.67%
03. 143.89% 04. 140%
05. 138.5%

oTTTr B 5T FEaT 1 grewe afl &A1 § = 78 ol area [Ea1e, SFATT ¥ af=are 7 ofT B 51T fase areit areaht it el St 1 fha=r
gfdera 82

01. 125.34% 02. 132.67%
03. 143.89% 04. 140%
05. 138.5%

Solution for Question 62

eng

Q-63

The total bikes sold by Shop B on all days excluding Wednesday = (15 + 10 + 22.5 + 25 +17.5) = 90
Total number of bikes sold on Thursday, Friday and Saturday together =65

Required % =2_” %100 =138.5% approximately

%

I B ST U 1 SISt @l fe1 3 =il 71 el atgeh = (15 + 10 + 22.5 + 25 +17.5) = 90
TEA, AT SRR h1 Teh E1 fofehel AT TR 31 et T = 65
ST TGS =§_E::IDD= 138.5%

What is the respective ratio of the total number of bikes sold on Friday to the total number of bikes sold on Thursday?




eng

01. 13:15 02. 16:19
03. 19:15 04. 19:17
05. 17:21

Q-63  FHATT T =T TS ATSH T HA HEAT AT Al a1 TS AT5F il el ST HT GaATerd AT FAT 52
hi

01. 13:15 02. 16:19
03. 19:15 04. 19:17
05. 17:21

Solution for Question 63

eng Total number of bikes sold on Friday = (22.5 + 25)x 100 = 4750
Total number of bikes sold on Thursday = (20 +22.5) x 100= 4250
Required ratio = 4750 : 4250 =19 : 17

hi TBRAT 1 Tl 715 SIT3ehi 3! et Tl = (22.5 + 25) x 100 = 4750
AT T Sl 7T STgehi ol oot WA = (20 13:.5) x 100 = 4250
TR ST = 4750 : 4250 = 19 : 17

Q-64 The number of bikes sold by Shop B on Friday is what percent of the total number of bikes sold by both Shop A and B on all the days together? (Rounded
eng off to the nearest integer)

01. 15% 02. 11%
03. 18% 04. 9%
05. 20%

Q-64  <fT B ETYT LRATE T o[=T T2 a3 6T AT, 1T A AT B T ST A1 T AT AT Fo G 7 7t afcord v aver et faeft 7 22
hi (s qurts aF)

01. 15% 02. 11%
03. 18% 04. 9%
05. 20%

Solution for Question 64

eng Bikes sold by Shop A on all days =(12.5+15+22.5+20+22.5+15)x100 = 10750
Bikes sold by Shop B on all days =(15+10+22+22.5+25+17.5)x100 = 11200
Total number of bikes sold by both Shop A and B
on all the days together = 11200 + 10750 = 21950
Number of bikes sold by Shop B on Friday= 25 x100 = 2500
Required percentage = (2500/21950)%100 = 11% (Approx.)

hi auft o i A R0 o=ft 1€ sTget s §&T= (12.5 + 15 + 22.5 + 20 + 22.5 + 15) x 100 = 10750
319 B gy |t foi o sreft 718 amgent o S = (15+10+22+422.5+25+17.5)x100 = 11200
3T A ST B 3T GRS TS aTSeht hY el He
guft o= Tk |mer = 11200 + 10750 = 21950
S[RAT T TG B ET St 775 aTgent i 6@ = 25 x 100 = 2500
ITagah AT = (2500/21950) x 100 = 11% (ST

Q-65 What is the approximate average number of bikes sold by Shop B during all the days together?

eng
01. 1867 02. 1826
03. 1838 04. 1857
05. 1860

Q-65  afT B g a1 a1 | Ua AT A= ST ATl arsa it SAHIT Sfad HeAT #4782
hi

01. 1867 02. 1826
03. 1838 04. 1857
05. 1860

Solution for Question 65

eng Approximate average number of bikes sold by
Shop B during all the days together



= (15+10+22+22.5+25+17.5)x % =“'f;00

= 1866.66, approximately1867

hi TSI TS STgeht ol STTHIA e S
aft T 3 e T EliE

= (15+10+22+22.5+25+17.5)x % =“'f;°°

= 1866.66, AT T 1867

Q-66 In each of these question, two equations (I) and (II) are given. You have to solve both the equations and give answer.

eng
L(x+2)32-25=0

IL3y2+y—4=0

01. Ifx<y 02. Ifx>y
03. Ifx<y 04. Ifx>y

05. Ifx =y or Relationship cannot be
determined

Q-66  =H T YeAF Yoy H, 7 AHEL (1) 37 (1) 3w 10 ) siroer D11 Gefieweont 7 g F3A7 & 37T ST AT FAT 8

L(x+2)?%-25=0
IL3y2+y—4=0

01. Z[ﬁx<y 02. Hﬁ'x>y
03. gfxx<y 04. fxx>y
05. =fy x =y 37 Ty v ALt oo o

THRATE

Solution for Question 66

eng x=3,-7, y=1,1.333
So, Relationship cannot be determine

hi x=3,-7, y=1, 1.333
A TR TATIT Tl (AT ST FhaT &

Q-67 In each of these question, two equations (I) and (II) are given. You have to solve both the equations and give answer.

eng
L 7x%+42x - 5040 =0

1L 4y2 + 17y — 30870 = 0

01. X>y 02. X<y
03. XSY 04. Xzy

05. x =1y or relationship cannot be established
Q-67  Find the value of variables and state the correct relationship.

L 7x% + 42x — 5040 = 0
1L 4y% + 17y — 30870 = 0

01. x>y 02. x<y
03. xSy 04. xzy
05. x =y IT q¥awe TATT Tl (AT ST THAT

d

Solution for Question 67

eng 7x% + 42 x - 5040 = 0
7x% +210x — 168x — 5040 = 0
7x(x +30) — 168(x +30) =0

x=-30,x=24



= 4y’ +17y-30870=0
4y? +360y — 343y— 30870 = 0
4y(y + 90) — 343(y + 90) = 0

y=-90,y=343/4 = 85.75

7x% + 42 x - 5040 = 0

7x% +210x — 168x — 5040 = 0
7x(x + 30) — 168(x +30) = 0
x=-30,x=24

= 4y +17y-30870=0
4y? +360y — 343y 30870 = 0
4y(y +90) — 343(y +90) = 0

y=-90,y=343/4=85.75

Q-68 In each of these question, two equations (I) and (II) are given. You have to solve both the equations and give answer.

eng
1. 42x%+378x — 1512 =0

1L 84y% + 262y — 420 =0

01. X>y 02. X<y
03. xSy 04. Xzy

05. x =y orrelationship cannot be established

Q-68  =H I WCAF WT H, T AHIFL (1) 37 (1) 30 10 | et FAT THw00 T g FIAT @ ST 3T AT FEAT & |

L42x2+378x— 1512=0
1L 84y? + 262y — 420 =0

01. x>y 02. X<y
03. xSy 04. XEy
05. x =y IT q¥aw TATAT Tl AT ST THAT

d

Solution for Question 68

eng 42x°+ 378 x - 1512=0
42x% + 504x — 126x - 1512 =0
42x(x + 12) — 126(x + 12) = 0
x=-12,x=3
= 84y’+262y-420=0
84y>+ 360y — 98y — 420 =0
12y (7y +30) — 14 (7y +30) = 0

y=-30/7,y=17/6

42x%+ 378 x - 1512 =0

42x% +504x — 126x - 1512 =0
42x(x + 12) — 126(x + 12) = 0

x=-12,x=3

= 84y>+262y-420=0



84y>+ 360y — 98y — 420 =0
12y (7y +30) — 14 (7y + 30) = 0

y=-30/7,y="17/6

Q-69 In each of these question, two equations (I) and (II) are given. You have to solve both the equations and give answer.
eng

Lx*-1=0
ILy+1=0
01. Ifx<y 02. Ifx>y
03. Ifx<y 04. Ifx>y

05. Ifx =y or Relationship cannot be determine

Q-69  =H I weAF Woy H, 7 AHIEL (1) 307 (1) 3w 10 ) siroeer D1 aeftewmeont 7 g F37 § 37T 3T AT FAT g

L x3-1=0
L y’+1=0

01. Elﬁx<y 02. Zlﬁx>y
03. Ffrx<y 04, Ffrx>y

05. 7t x =y T H¥awel T gl (AT ST
qFAT
Solution for Question 69
eng x=1
y=-1
X>y
hi x=1
y=-1
X>y

Q-70 In each of these question, two equations (I) and (II) are given. You have to solve both the equations and give answer.

eng B
T=qm =%
(v +7)*=0
01. x>y 02. X<y
03. xzy 04. XSy

05. x =y, orrelation can’t be established

Q-70  =H FYeAF Woy H, 7 AHE (1) 37 (1) fZw 0 ) sroeer D11 aefiwwont #7 g F3A7 8 3T ST AT FAT g

Tz =%

I(v +7)7=0

01. X>y 02. X<y
03. X2y 04. X<y
05. x =y, T Fvaee EATOT Tt (3T ST
TFRAT
Solution for Question 70
eng x=0,7
y=-7
X>y
hi x=0,7

y=-7
X>y

Q-71  What should come in place of the question mark (?) in the following number series ?

eng
1321 709 313 75 33 ?



Q-71
hi

01. o 02. —50
03. 69 04. 70

05. _55
Aafafag gear goar & w3 e () F A g FATAATATRT?

1321 709 313 75 33 ?

01. 0 02. 50
03. —69 04. —70
05. -55

Solution for Question 71

eng

Q-72

eng

Q-72

1331-10= 1321
729 —20= 709
343 -30=313
125-50="175
27 -60=-33
1-70=-69
1331-10= 1321
729 —20= 709
343 -30=313
125 -50="175
27 -60=-33
1-70=-69

What should come in place of the question mark (?) in the following number series ?

513 644 781 7?7 1097 1288

01. 930 02. 925
03. 927 04. 922

05. None of these
Aafafag dear fEar ® 75 e (2) F e =T e FTAAT AR

513 644 781 ? 1097 1288

01. 930 02. 925
03. 927 04. 922
05. None of these

Solution for Question 72

eng

hi

Q-73

eng

Q-73
hi

+131, +137, + 149, +167, +191,
+6 +12 +18 +24

+131, +137, + 149, +167, +191,
+6 +12 +18 +24

What should come in place of the question mark (?) in the following number series ?

127 470 686 811 875 ?

01. 900 02. 902
03. 903 04. 907

05. None of these
frafafaa g T d w3 fred (2) F T gy v A w?

127 470 686 811 875 ?

01. 900 02. 902
03. 903 04. 907
05. =7 HFHIE T4l

Solution for Question 73

eng

473 g3 453 43 438 493



477 467, +5. +4 +F, +27

Q-74 What should come in place of the question mark (?) in the following number series ?
eng
56 67 80 88 ? 109 119
01. 100 02. 102
03. 104 04. 96
05. 98
Q-74 fufafagdear gEar® va e () F A eTFATAAT AR
hi

56 67 80 88 ? 109 119

01. 100 02. 102
03. 104 04. 96
05. 98

Solution for Question 74

eng Difference = sum of the digit of the preceding number
b S = T H ¥ AT AT
Q-75 What should come in place of the question mark (?) in the following number series ?
eng
20 ? 33 48 74 109 159
01. 22 02. 23
03. 24 04. 21
05. 27
Q-75 fwfafagd=ar fE@arT® 79 eET (2) F AT ITFATAATATIRT?
hi

20?2 33 48 74 109 159

01. 22 02. 23
03. 24 04. 21
05. 27

Solution for Question 75

eng

hi

ot S [

s R S [ s [

Passage for Question 76, 77, 78, 79, 80 (ST-275CRPPOPRE(56-60M)2019)

eng Passage
Study the following data and answer the given questions —

Five companies A, B, C, D and E have a total of 25000 employees working in the HR, IT and Sales departments and the ratio of the number of employees of the
companies is 4: 6: 5: 4: 6 respectively. If 4% of the total employees work in the HR department of Company A and the ratio of employees of IT and Sales
department of Company A is 3: 2 respectively. Number of employees in HR Department of Company B is 1.5 times the number of employees in Sales Department
of Company A, and is equal to the number of employees in IT department of Company E. The ratio of the number of employees of HR, IT and Sales departments
of Company D is 5: 7: 8 respectively. The number of employees in the HR department of Company C is 87.5% of the number of employees of Sales Department of]
Company D, and 0.7 times the number of employees of Sales Department of Company E . The ratio of the number of employees of HR department of company E
and IT department of company B is 11: 9 respectively. The ratio of the number of employees of Sales Department of Company B to Sales Department of Company
C s 6: 5 respectively.

hi Passage
= feT T aiFsT FTAeTTT HE A TTAT FTIALR —

T FAAT A, B, C, DT E F HR, IT 3T Sales fareT & & 25000 FHAT TH F¥d & ST FUAMIT 5 FHATAT 0] ST § SIqId FHA: 4:6:5: 4
63 ! AT FA=T A F HR 9T & FH1 FHATRAT % 4% FHATL FTH FLd g 3T FAAT A F [T 377 Sales ToraHT 3 FHATIAT 7 ST 79 3: 2 | FAAT
B3 HR fawmr & wd=1RaT &7 §&ar, #0947 A F Sales Taa T 3 FHATRAT 7 G=ATHT 1.5 JAT S AT FIATE F [T AW 3 a0 g | F9=1 DF HR,




IT 3T Sales 2577 3 FH=THAT ¥ HAT T SIqATT F7A: 5:7: 8 F | F9AT C F HR F97 & sFef=ivat #71 sear, #9+1 D ¥ Sales f&wnT % we=rfegt
T HEAT 7 87.5 % FH ¢ < FAT E F Sales ForemT 3 FHATRAT T S&AT 7 0.7 AT 2 | F9T E 5 HR o7 i T+ B [T faamr & wH=meai i
TEAT T AT FHLA: 11: 9 | FAAT B F sales FaTT i FUT C F Sales farsRT 3 FH=ATIRAT 1 HEAT T 01T H9T: 6:58 !

Q-76  What s the difference between the total number of employees in the HR department and the total number of employees in the Sales department including
eng all the companies ?

01. 1800 02. 2800
03. 3800 04. 1600

05. None of These
Q-76 =t FAT FT FHHT HR BoramT & &t Fe=niat 7 S i Sales foramT & st =it £t dear  di= sfaw g ?

01. 1800 02. 2800
03. 3800 04. 1600
05. =i & F7E

Solution for Question 76

eng The total number of employees in the HR department including all the companies = 1000 + 1800 + 1400 + 1000 + 2200 = 7400
the total number of employees in the Sales department including all the companies
= 1200 + 2400 + 2000 + 1600 + 2000 = 9200
Difference = 9200 — 7400 = 1800

g:;laﬁar;lzn\t HR IT Sales | Total Employee
A 1000 1800 1200 4000
B 1300 1300 2400 6000
C 1400 1600 2000 5000
D 1000 1400 1600 4000
E 2200 1800 2000 6000
hi T} shafa @t freet HR fasm & @t shefenfet it @@ = 1000 + 1800 + 1400 + 1000 + 2200 = 7400

T} waf @t frere Sales forvmT & aft svdenfe i s = 1200 + 2400 + 2000 + 1600 + 2000 = 9200
st = 9200 — 7400 = 1800

s\ fm | HR IT | Sales | F@ai=mt
A 1000 | 1800 | 1200 4000
B 1800 | 1800 | 2400 6000
C 1400 | 1600 | 2000 5000
D 1000 | 1400 | 1600 4000
E 2200 | 1800 | 2000 6000

Q-77 The number of employees of the IT department of Company E is what % of the number of all employees of Company B.
eng

01. 30% 02. 359
03. 45% 04. 25%

05. None of These
Q-77  FAATE F IT e & FHATRAT 6 F&AT, FA B TH FHATAT 7 H@AT H7 HhaqT % g !
hi

01. 30% 02. 35%
03. 459 04. 259
05. 3o & A7E

Solution for Question 77

eng Required % = 1800*100/6000 = 30 %

hi anftg % = 1800%100/6000 = 30 %

Q-78 The average of the total number of employees of the IT department, including all companies, is how much % less / more than the average of the total
eng number of employees of the Sales Department. (approx)

01. 99 02. 11%
03. 7% 04. 13%



Q-78

05. None of These
Tt FAAT F AT 1T 3T 5 Fo FHA1RAT 67 Fe47 F7 3f9q, Sales oWRT F H FHATAT 6l HEAT F € o Shael % FF / ATTF
! (FTHT)

01. 99% 02. 11%
03. 7% 04. 13%
05,z i TS T

Solution for Question 78

eng

Q-79

eng

Q-79

Average of the total number of employees of the IT department, including all companies = PR LA AT L 1680

5

1200+ 2400 2000 + 1600+ 2000 _ 1049

iz

Average of the total number of employees of the Sales Department including all companies =

Required%=w~<1uu =9%
1840

PSPPI T R s g e g.j\quah_r?’?m_d:ISCIL']ﬂ.LISL'JO+1600+1—1Cl0—:ISCIEJ:1680

5

il Fafii 1 frem Sales frm % e FHeE ) de 5 sitgg= 200 — 2400 - 2000 - 1600 - 2000 _ g4

i

sfiy % 18401680 . _ 9o,
1

If the salary of each employee of Company A's HR department is Rs. 960000 annually and the ratio of monthly salary of each employee of HR department
of Company A and monthly salary of each employee of Sales Department of Company C is 8: 3 respectively . So how much rupees does company C have
to spend annually on the employees of the sales department?

01. 60000000 Rs 02. 50000000 Rs
03. 30000000 Rs 04. 20000000 Rs

05. None of These

i FOAT A F HR TI9TT 3 Seaeh 8= &7 a9 960000 93 ATIHF g TAT FAT A F HR T3sRT 3 Tears sFH=mey % ATH8F a9 i< F9+7 C
F Sales TaI9RT 3 T FHATL & ATRE JAT FT STGITT HH: 8: 38 | AT FUAT C T Sales TAWRT % FH=ATRAT F Fu< fohaq=r =7 arfi+ ==
FIATIEATE ?

01. 60000000 =TT 02. 50000000 ¥9
03. 30000000 =TT 04. 20000000 =TT
05. =8 T HTE Ao

Solution for Question 79

eng

Q-80

eng

Q-80
hi

Monthly salary of each employee of HR department of Company A = 960000/ 12 = 80000
Monthly salary of each employee of Sales Department of Company C = 80000 x 3 /8 = 30000
Hence Company C have to spend annually on the employees of the sales department = 30000 x 2000 = 60000000 Rs

#t A % HR fawmT o e semt o mifées oad = 960000/ 12 = 80000
#ft C % Sales foramt o wie et & wifess s = 80000 x 3/ 8 = 30000
s ot C a1 Sales forwmr o shefafai S @ arves &9 = 30000 x 2000 = 60000000 &=

If company D spends 201600000 annually on total employees including all departments and the monthly salary ratio of each employee of HR, IT and Sales
department is 4: 2: 1 respectively, then how much monthly salary will each employee of Sales department get?

01. 2000 Rs 02. 4000 Rs
03. 8000 Rs 04. 3000 Rs

05. None of These
T FOeT D g7 T oot 7 e o FHA1RAT 9% J1AET 201600000 @+ 3647 SITAT € $T HR |, [T 9T Sales &R % Yo F#HA1T %
AT I HT ATITT FHL: 4:2: 18 AT Sales FAaRT F TeF FHAT &7 foha=T AT A FHemm?

01. 2000 =7¥ 02. 4000 =¥
03. 8000 =T 04. 3000 =T
05. =8 T FIE T2T

Solution for Question 80

eng

4x % 1000 x 12 + 2x % 1400 x 12 +x x 1600 x 12 = 201600000
100800x = 201600000 = x = 2000
Hence monthly salary will get each employee of Sales department = 1x = 2000 Rs



4x x 1000 % 12 + 2x x 1400 x 12 +x x 1600 x 12 =201600000
100800x = 201600000 = x = 2000
31a: Sales Tt & wees e i A1fees oo fierm =1x = 2000 73




